Dr. Mangesh

MBBS, MD.



Super Speciality Hospital Your Trust. Our Service

OPD Prescription

UHID No.

: 3729

Patient Name : Nansi Kumari

Address

: Basuari, Samastipur.

B.P.

Pulse:

OPD No.

: 2237

Date

: 30/08/2025

Age / Sex

: 23 days/ F

Temp:

Weight:

Satyam Super Speciality Hospital Unit of Satyam Medical Care Pvt. Ltd.

Maripur (Opp. Satyam Paramedical College & Research) Muzaffarpur-842001, Bihar

Email: satyam_hospital@yahoo.com Mob.:

Attn: Mother Concern

Fund Support Requisition for Economically Weaker Section

Reference No.

UHID :- 3729

OPD NO. 2237

DATE:- 30/08/2025

PROFORMA INVOICE/FUND REQUISITION REPORT

Satyam Super Speciality Hospital (A unit of Satyam medical care Pvt. Ltd.)

Opp. Satyam Paramedical College And Research

Maripur, Muzaffarpur, - 842001, Bihar

Patient Name:	Nansi Kumari		
Sex:	Female		
Mother's Name:	Kusum Kumari		
Address:	Basuari, Samastipur		
Diagnosis:	Congenital adrenal hyperplasia-genetic disease affecting the adrenal glands above the kidney.		
Date of Admission:	30 th /Aug/2025		

Overall Analysis: - Nansi Kumari, was brought to the hospital in the morning hours of 30th Aug. 2025 in a critical condition by her parents. The condition of the kid is critical. Patient has Suffering from a condition related to Congenital Adrenal Hyperplasia (CAH), which affects the adrenal glands located above the kidney. This disorder impairs the body's ability to respond effectively to stress, posing a serious risk to the baby's life. The kid has been admitted in NICU with 24 x 7 observation of concerned doctors and necessary treatment has been initiated. There conditions can be severe and require urgent medical attention to address the deficiencies and other complications, regular assessment and check up is required. The patient comes from a financially weaker section, Kid's father is a Truck driver and mother a house wife who can't take care of the medical expense, so they need financial help of approx Rs. 1,31,320/- For almost 16 days of treatment.

Please provide financial support for the same.

Estimated Fund required during Hospital Stay and Overall Treatment.

S.No.	Element	Unit	Rate (INR)	Price (INR)
1	NICU	16	3000.00	48000.00
2	Nursing	16	1000.00	16000.00
3	Visit	16	1000.00	16000.00
4	Procedure	1	5000.00	5000.00
5	Medicine	16	620.00	9920.00
6	RBS	16	100.00	1600.00
7	Oxygen	288	100.00	28800.00
8	Warmer	12	500.00	6000.00
				1,31,320.00

Justy Jest 30/1025

भेवा में भवर नंसन

महाञ्चाय, नम् निवेदन है की भेरी बेरी मेन्सी कुमारी जो भी अभी 23 दीन की ही है, जो की शेंबीर बीमारी की भुक्त रही है, जो की अमना जनमान है। ड्रॉक्टर का कहना है की बसके विडमी और असरी भुड़ी नली में बहुत ही दिननत ही साज ही और भी क्षमम् ही। डॉम्स्टर का कहना है भी अलग इहाए। जावद सी जावद बाबन भरना होगा नहीं ती अमना वाचना भुस्मिल है। डॉक्टर का बनहना है की इसका अन्यत इहाज हैर् 1,31,320/- की रवन्य अम्पार्की अरेट लगाना १६ दीन तम मा मान्य वर्जना अत्येत शरीबी से जुझ रहे परिवार के लिए अह बहुत ही बरी र्मम है। मेरे पति द्रक शलाते ही अरेर भी अपने धर का देख मल करती हैं। असः श्रीमान की भेरी नम् निनेदन ही की भेरी आर्थीक एवं दीनिम रिश्वी की वेखरे हुए असरे जिल् से ती का स्था कहा करे इसने लिए में श्रीमान का स्या आजारी रहूंजी।

And 30 posteros

/अगपका विख्वासी

